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1. 15 wa-u3, when-giee & w0 4 81 el wlenfial w1 qere wed g w g

The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. 3it.um.aw. Yie W feEd A emEE ahyl e, am. e R i /TR /e w1 i o s W e
FO % T Hae e TEe U9 (SHrer 41 i) 1 3w i)
Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Black or Blue) for writing /
shading / bubble on OMR sheet and marking your answers.

3. 3wt ¥ fore, @ ST ) S A T S 9 TR, I e R e whan & i § owem.
ffie H T F TERTE fE W e AR o qe oit.un. e, I we Frilew ® diw i o sweR Tl sfa
EEERIERC

A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On
completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the
original OMR answer sheet to the invigilator and retain this duplicate copy with you.

4. g% aegfis g9 F e faw st /o et oft smava &, fm % @ g I feeed (a), (b), () 3R (d) fog Sat
I ¥ Had T & Fa el

Each objective question is provided with a text and/or figures wherever applicable with multiple answer
choices (a), (b), (c) and (d). Only one of them is correct.
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1. e AT 1 vt Ta1 87

The symbol for seam welding is

(a) Q (b) IL
- 0 .

2. dRUEHFI— - ®

A Ogee curve is a
(a) 3ref Eﬁ\’-h?ﬂ / semi ellipse
(b) I«d UG aad & Y FReR f§ %9 / continuous double curve with convex and concave

(c) o G5 a1 ol &l FHMTR @rsdf &) Sisar g / freehand curve ﬁrhich connects two parallel
lines

(d T / semi hyperbola

3.  GAME weUS & diake B —— A S ®

The interior angle of regular hexagon is ——————— degree.

(@ 72 () 108 (c) 120 d) 150
4. Gugeh deTs 3 arfid TS T —— i Bt @

The isometric length is __ percent of actual length.

(a) 6L5 (®) 715 (© 8L5 @ 915

5. MR yumeh A, 594 freh x 841 el MR & i B Teha T B &2

In metric system, the designation of sheet of size 594 mm x 841 mm is
(a) A0 () Al () A2 (d A3

DM-01 3 March 2020
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10.

11.

8x8x5T4x8x 103{@%&@%3{%@&%%@111?

Ratio of volume of vessels of size 8 x 8 x 5 and 4 x 8 x 10 is

(2)

0.5 ®) 1.0 © 15 @ 20

e B T & BRI, WG@WWWWI{WW%?

Due to torque in a shaft, every cross section is subject to

(a)
(©)

=yu ufaed / Shear stress (b) 4 yfaes / Tensile stress
%9 ufdea@ / Bending stress (d) Fud uicsd / Contact stress

wwﬁ%mmﬁwwﬁwmwﬁmm% @, &5 & fika Shrea fie T B

27

When a load of ‘W’ is applied to a bar of cross section area ‘A’, the average stress induced in

the bar is given by

(a)

W* A ®) WI2A © 2W/A d WA

Tf T Tl JaTeR fowe TE . R f . F gEHR g, @, = TR T4 ST I B &7

If a thin circular disc is parallel to HP and VP, its plan and elevations are

()
(b)
(©
(d)

R Td I ot Zﬂﬂ@ﬁ B % / Both plan and elevation are ellipses
e <I¥g el § 9% =i TH @ el g / Plan is an ellipse and elevation is a line
T UH Xl Bl ? 3R F=Ta TP Z‘?ﬁfqﬁ gran 2 /Planis a line and elevations is an ellipse

T T S G @it el & / Both plan and elevation are lines

450 3l 300/6001%@awdﬁ%ﬂm%muﬁq—mmqﬁmmm?

Which angle cannot be made with either a 45° or 30°/60° triangle or a combination of both?

(2)

30° (b) 60° (¢ 70° @ 90°

U 998 1 9% AAFT 216 T T | ST AT fa B2

Surface area of a cube is 216 m®. Tts volume is given by

(a)

DM-01

216 m? (b) 108 m? (¢ 72md (d) 48md

4 March 2020
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12. 15 e s ofR 15 i, Teerd & Ue ofy s &1 B famfia fovan i 62

How is a blind drilled hole of 15 mm diameter and 15 mm depth dimensioned?

(a) M15, DEEP 15 (b) ¢ 15
(c) ¢ 15«15 (d ¢ 15, DEEP 15
13. U YoM Y AT TF AR ARG S 76 N IT Fh Hl A HRA 2
A cylinder can be created by drawing a rectangular shape and using the ——— tool?
(a) §fgde / Extrude (b) WY / Sweep
(c) gReHT / Revolve (d) e / Offset

14.  dRJHEHS “C” SATHR P YR BT AU F1 8dl 52

The measurement of architectural “C” size paper is?

(a) 36" x 48" (b) 24 x 36 (©) 18" x24” @ 12°x 18

15. wﬂa@uﬁwﬁ%w%ﬁmq&rﬁwﬁa%w%&mmasﬁﬁm%mm?

A pentagonal prism is placed with axis perpendicular to the horizontal plane, the front view
and top view are?

(a) UdYW, BYS / Pentagon, triangle
(b) Y, T4 / Triangle, pentagon
() UYYW, 3MUd / Pentagon, rectangle

(d) 3d, USHYS / Rectangle, pentagon

16. =Y eH-u faawu ud 87
Which of the following is true?

(a) Sin2(30) + cos2(30) =1
(b)  Sin2(45) + cos?(45) =1
(c) Sin2(60) + cos2(60) =1
(d) Swgaaadft / All of the above

DM-01 B March 2020
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o HUMAN SPACE FLIGHT CENTRE SET
A
17

I @1 T g B, 3 7 TS fopd) T &1 Rigel Mpred 8, NI & ez & L@ TS Bl 1 BT Sl
2 /If a line intersects a circle at two points, not passing through the center, the line segment

inside the circle is called
(a) =g 3@/ Radial line
(b) Sfiar / Chord

(¢ oA/ Sequent
() =gufEr/ Quadrant

18. T g B1 OIS SMTYU I HABA g e
Area moment of inertia of circle 1s
() wd*/e64 ) xd®/32 (¢ xd®/16 @ =d*/16

19. o s @1 A o 5 A g e, A, TR 1 STEl Y T B

What is the outer diameter of washer when the nominal diameter of bolt is 5 mm?

(a) 13 mm (b) 15 mm (¢ 10mm (d 12mm

20. QM BRI W IRE, Had U SAHR Jeb Yo see gl ¢l
Bolt which consists of only a cylindrical shank threaded at both ends is called
(a) i <fed cuiva dec / Headless tapered bolt
(b) g-diee T HU TH | Tap-bolt or cap screw
(© S-Sl YIS / Stud-bolt or Stud
@) BIHeTED-35S diee / Countersunk-headed bolt

91, 2 AreiRy, o1, AR, A, TS, S i e fore ¢ IR Q Yafdd B 82
The commands Erase, Copy, Mirror, Trim, Extend, Break etc in 9D CAD belongs to which

tool bar?
(a) TRTAER /Layer tool bar (b) WEAEATR /Style tool bar
(c) HifewrE gaaR / Modify tool bar (d) $ITAER /Draw tool bar

DM-01 6 March 2020
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22, TR A IO ST Ha GRHIG faar Sirdr &2

How is Young’s modulus of elasticity defined?

P Al Pl m
@ [ZJ b) [TJ © @ (—-J

23.  fom @M &t fRya B @t &) vomel BiA-3 82
Which of the following are the two systems of placing dimensions?
() @ yoeE / Aligned system
(i) @ WOl / Break System
(i) Ui UMl / Unidirectional System
(iv) fa=me® yomeh / Directional System

(@ @), @) (b) @), i) (© (), (i) d @, (i)

24 po uRkfRufad & SR UE verf B 35 A 9o Sdfed w2 | of T wRie ded 7 4 2, A,
gerdf &1 faweaur fsar g

A material elongated by 35 mm due to certain conditions. If it’s initial length is 7 m, what is
the strain of the material?

(@)  0.05 ®) 0.005 © 0.07 @ 0.007

25.  dqe & gay ¥ Frefefea o § SF-91 aren 98 e 82
Which of the following statements about Ellipse is not true?

(a) aﬁqmmﬁﬁﬁgaﬂa’rmﬁg&ﬁﬁfgﬁmﬁmﬁﬂm%f The sum of the distances from

two focuses and any point on the ellipse is constant

(b) I T THAT W WG T e & YHR § AR U B Blear & O 98 /P g FAM / If a

plane which is parallel to the axis of the cone cuts the cone, the section gives ellipse

() dga @1 TN WHieRU X2/a2+Y2b?=1 § / Mathematical equation of ellipse is
X2/a2+Y?2/b2=1

(d SHhadlIBFAL/ Eccentricity is less than 1

26. T W% 98 § forad

A Basic shaft is one in which

(a) SWIfa=ed g gar g/ Upper deviation is zero

() I RETI Y@ BT / Lower deviation is zero

(c) S Q'Gﬁ'iﬁﬂ FEIRCERES Pige| gl % / Both upper and lower deviations are zero

(d) S9YFa T ¥ B 78l / None of the above

27. 5 x 10437 8 x 105 &1 70N F W IucTed UG &1 81117
What is the product when you multiply the numbers 5 x 104 and 8 x 105?
(a) 4 x 107 (b) 4x108 (c) 40 x 108 (d) 40 x 109

DM-01 : 7 March 2020
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28.  ‘oErewis Ud Wd HHIS & o I SR &7
What is the difference between “Zoom” command and “Scale” command?
(2) ‘SETVAUT BT Tl $I sewdl § WG Wa 9% ¥ PR &I §eddl & / Zoom changes the
visibility of the project while Scale changes the size of the object
(b) ‘TS U B W e R WS Wew PR BN 10 T TG/ TPl & / Zoom has no limits
while Scale can grow/ shrink a shape by up to 10 times

(c) ‘GI\H’@W ¥ w1 § wele WA 0@ 9 % RU B & / Zoom is for the whole plan

while Scale is for a single object

(d) G'Q'éﬁﬁ HA s el / None of the above

29.  geituw. (s SHa YUIeh) 1 TR IEE I 82
What is the primary purpose of UCS (User Coordinate System)?
(a) T &) SfEd UPR & SREUl SHTS BT IGT B AT / Allows user to select the desired

type of drawing units
) mﬁﬁ'ﬁ'ﬁEZﬁquB@mﬁmﬁﬁmﬁ% / Allows user to draw on a

specified 2D plane in 3D space

(c) VGl & a%] ¥ & B VAT H T Heg Bl ¥ / Helps user to calculate the area of an
object

(d) T & Said vadl & e S fuffa @ § Aeg It g/ Helps user to determine

angles for isometric projections

30,  E-U REuTe i Wes Bt WEHTHe S dla B IR HRA H 7EE S 67

Which design process involves responding to the emotional needs of the consumer?
(a) Wﬁ%\?ﬁq / Aesthetic Design

(b) UeTaid® fgwg / Functional Design

(¢)  wumeh f&WEA / Systems Design

(d) %-UR/e-business

31, i i fory, TR U or(2h) % v 9t g 1 35 e e @ (R =for)?
For a square thread, the distance between the crest and root (d) is given by? (p = pitch)
(a) 061lp (b) 064p ¢ 05p (d 0.86p

DM-01 8 March 2020
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82 o U S IS T B are 1 120 T grT S B, A 5 ot B R A R o) wge &2

When a double — threaded screw is made to turn 120 degrees about its axis, how much does

the screw advance through the axis?

(a) o F TS 13/ 13 of pitch of helix

(b) W F TP 13/ 13 of pitch of screw

(c) efeaa & U@ 14/ 14 of pitch of helix

(d) Gd sfaed & U9 S A 8Idt 8 / The advancement is equal to pitch of helix.

33.  fONTORT oY Wgfda & e A afe it Rae & g &1 9 €, @), fae & <) uieaal F d" @7 ol
— Y HHTE e TR

In zigzag lap joint formation when P is the pitch between the rivets, the distance between

the rows of rivets should not be less than

(@) 0.6P ®) 0.8P © P @ 1.2P

34. dew =gty fora fufa & e (Tadh= &S gaaw, A, = Sefr araa )
The 3 quadrant is in which position? (HP = Horizontal Plane; VP = Vertical Plane)

(a TEH &=, fdFHD / Below HP, behind VP
(b) TIU. &SR, ®dF RS / Above HP, behind VP
(c) A & SR, 9.0 F I / Above HP, in-front of VP

(d) wEd &R, fdF I / Below HP, in-front of VP

35. U® YW & od BI g Bl IR [0d a1 87
The center of gravity of a triangle is on

(a) &GP /centroid () URIT &= /circum center
(¢) T /Incenter (d) TIPH= /ortho center

DM-01 9 March 2020
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36.

37.

38.

39.

40.

41.

YRIYTYY & MHR | UG fa=ge B T Hel ol 87

Maximum deviation in size of shaft or hole is known as
(a) eIl / Tolerance (b) HoYd fage / Fundamental deviation
()  SfawElt / Clearance (d) SIS / Interference

falt aTer 991 & ufd U uerd & ufeRly S 31 S8l S 87

Resistance of material against any external force is known as .

(@) g / Stiffness (b) SmUTA@Ed / Malleability
(0 M=l /Strength (d) FoRal / Hardness

1 & 9 DIt wag ufvsweo wfemar 82

Which of the following is a surface finishing operation?

(@) f3f&T / Drilling (b) qfdT / Lapping

(c) o / Milling (d) <FT /Turning

Wie 5y &1 qRaTe TlieTEd &g o F-91 87

Symbolic means of indicating Spot face is

@ |s¥ ® \/
© T @ ©

X2+ 2x—15 =0 GHIGRU S AT E ?

Roots of equation x2 + 2x — 15 = 0 are?

@ 5,3 (b) -5,3
(¢ 5,-3 (d -5,-3

I T THISIPd Gag & T sifearss Wa & amr fiers gt 82

For chromic acid anodized surface, typical thickness of oxide layer is

(a) 0.5t0 2.5 U (b) 5-10p (0 10-12p (d) More than 12

DM-01 10 March 2020
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42.  UH UH I U 0 YR W EReied @ A YT § | I T TUST 31y W U@ THAA gRT UG 9
& o T 39& uR=se o1 guTe STHR o1 S

A right circular cone resting on HP on its base is cut by a section plane parallel to HP,
bisecting its axis. The true shape of the section is

() <Egaa / Ellipse

(b) 9« / Circle

(c) TRaey [ Parabola

(d) 3fd Waed / Hyperbola

43. UF U S 5 fdl dafc AR WU P 5 BN UleR @I WG UeH BRdl © o B! &wal 1 g2
(1 g TR = 745 T1R)
The efficiency of a motor that receives 5 kW and delivers 5 HP is (1HP = 745 W)
(a) 35% ®b) 70% © 74.5% @ 80.5%

44, TP gAdq & o FefafEa 8 @ ve Rufy v T8 82

One of the following position is not possible for a plane

() T % dad oik @it & IAHIGR / Perpendicular to HP and parallel to VP
() @ & dead 3R Ta.d. & IAHIaR / Perpendicular to VP and parallel to HP
()  Tadgd dd. <l % Fui / Parallel to both HP and VP

(d) T4 & whis 781 / None of the above

45, yreh wisfem @ gaa s v ue wurel &1 SuarT B g, R o et @ o s g

CAD programs which incorporate parametric modelling, use a system in which the
dimensions control

(a) Wisd P ey Ul / Perspective features of the model

(b) HlsaH UEd P P [o1¢ T YfET / Shading used to render the model
(¢) HISA P AHR Td AP / Size and shape of the model

(d) G'El'éaﬁ T@ff / All of the above

DM-01 : 11 March 2020
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46, % wioe @1 A R gl ey

The advised position of placement of the dimensions should be

(a)
(b)
()
(d)

T ® 3 / Inside the view

T I aeY / Outside the view

=g @ diATe R / On the boundaries of the view
TR 1 Pled gU / Cutting the view

47. o gEH e 7, af o 3R T TR 1 A A 5 S ok 4 WAL @ St ured 1 A feba

gnm?

In a right angled triangle, if hypotenuse

the remaining side measures

(@)

48, i B a3 & R e T e () o @1 o

For a unified triangular external

(a)
()]

3 cm (b) 4cm (¢ bHecm (d)

. when pitch (p) is given.
d=0.75p ® d=05p
d=061p (d d=064p

& one side measures 5 cm & 4 cm respectively then

e e () Ranmarg

thread, the distance between the crest and root (d) is

49. 24 fyi=mE, 5 frh, L OIR 10ﬁ.ﬁ.$ﬁgwﬁm$ﬁgwﬁiﬂﬁﬁﬁmﬁﬁﬁmw%?

How is a spot face hole with 24 mm diameter, 5 mm deep and spot face di

dimensioned?

(a) ®24and ¢10

() 5SPOTFACE, ¢24x ¢10

(©) ¢ 24 SPOT FACE, ¢ 10

(d ¢10SPOT FACE, ¢24x5 DEEP

DM-01

12

ameter 10 mm
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50.  gfyue ot B Urd @1 20% S SAr 8, oY, 391 S AT 5§ Sra?

If the side of a square is increased by 20 %, then its area is increased by
(@ 22% b) 32% () 40% d 44%

51. od UeXTa & Tt 8 @ Ui 0.85 &, e UTGTE B UHieT T2 81 @1 Wik fhant arft

The probability of a test at school tomorrow is 0.85. What is the probability of NOT having
a test tomorrow?

(a) 1/0.85 (b) 1/0.15 (¢ 0.15 (d) 0.85

52.  PrefiEd RE ¥ R wmm sftifear (3R) &19F | e?

The value of Normal reaction (R) for the following figure is

P

pr

w
i

Y

F=uR | R

(a) W -PSinf (b) W+ PSinb
(c) P - WSin6 (d P+ WSinb

wel g = =i BT UR, O = Sy 5, p = T0r 1 o, 6 = FI
where, W = Weight of block, P = Applied force, [t = Coefficient of friction, 8 = Angle

53. g § frg USR % 9 BT IUINT R STl 87

The types of threads used in Screw jacks are

(a) AfCH 4T / Metric thread (b) & /Square

) THws. /ACME (d) U=aT / Buttress
54. WhEAIH— - Ui R e fhar S e ?

Concentricity is represented by symbol.

@ (O » P

© ] | @

DM-01 13 March 2020
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55.

56.

57.

b8.

59.

60.

aft e Y@ B giksicd @ ¥ 450 3R aféeda @ ¥ 300 FHWI G dl TUDT UE FH G
—®m

If a line is inclined at 45° to the HP and 30° to the VP, its front view is inclined at

(a) 3003 45°F 19 / Between 30° and 45°

(b)  45°9 3fUF / Greater than 45°

(c) UIHTE. & ey H 450 / 450 to xy

(d) TEHaR. F Yy H 300 /30°to xy

TIPS WA H, 3TId HHTS BT TY ¥ 1 87

In Autocad software, abbreviation for Rectangle command is

(@) IRSHEE /RECT (b) 3RS /RE

() I3REHEL. /REC (d) 3@ /RT

R Y o go URIE S1H-91 &7

Which of the following is the lightest pencil?

(a) 24 /2B (b) 4. /B () vwadr /HB (d v=a /H

U el T B @arg 10 T, ofR Irerd 4 W € afe ort 1 50. F IR TERS O WX § o ol Wdle Bl P
&A% 1B

A water tank 10 m long and 4 m wide contains water to a depth of 1 m 50 cm. The total area
of the wet surface is given by

(a) 82m? (b) 122 m? () 102 m? (d) 42 m?

I T BT A Farsd Rorgd it ared 150 . ¥ ok ww B 450 87

Name the quadrilateral where all sides are 150 mm and one of the angle is 45°
(a) A’ / Rectangle (b) Wﬂﬂﬁ / Rhombus

(c) i / Square (d) Wﬂ‘iﬁ / Parallelogram

I x b x h 3T % Ueb AR Sl 3 ST Telg 1 [aap T At a1 ar?

The developed area of the outer surface of a rectangular box of dimensions I x b x h is
(a) Ixbxh ) Il+b+h

() 2(+b+h) d 2Uxb+Ilxh+hxb)

DM-01 14 March 2020
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SPACE FOR ROUGH WORK
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5 Hﬁﬁﬁ%ﬁﬂ%ﬁﬁ%@ﬁﬁﬁﬁlaﬁwﬁ%m?ﬁqm,mq%ﬁmsﬁwaﬁtmm%mww

srer Sa| e w3 Rore Ue @ Srferen 3w A1 e I W ST

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and
MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. wgﬁwﬁmﬂ%ﬁsﬁtw%%&mgmgmgmgﬁ%ﬁ%mw%, R aft.um.om. tfic W, o9 d
TG AT So FE AR 21 YT T HE W, S-S F A Ta A S|
Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory

to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not

be evaluated.

g@wﬁwwﬁw%mﬁm%mm%mmmélWﬁsﬂzqﬁd’tm@m

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. mmmmmfﬁéﬂwgﬁ,qﬁwﬁﬁm@ﬁwﬁzmgﬁﬂﬁgﬁl@m@muﬁ&mﬁﬁmﬁm%m
@ TEe W 7

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.
Candidates should sign against THEIR names only.

9. wlam ¥ i § (1) B Rywehr fiftga wlean F Fa et (2) g A.0H.AW. IR e Frlles H aow F S q
foreft oft uftfeufa o areaeff 3@ 9 @ S

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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